% P @ @ ﬁ fire desimaler, operasjonsrekkefolge med
{ parenteser

StudentName: ExamDate: ~ ExamScore:
3,1-54(5,9+2,4)= 10(4,9—-5,2)+2=

(5,5—3,7)x3,2—-3,6= (3,9+6,7)x6,8—4,6=

16(3,2 - 6,9)+4 = 4,7+6,22,6+5,1)=
(2,3+5,1)x2,9+3,8= 3,3—-4,8(5,7+4,4)=
2,1+5,7(6,8—2,9)= 2,3-3,92,9—-6)=
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% P @ @ ﬁ fire desimaler, operasjonsrekkefolge med
{ parenteser

StudentName: ExamDate: ~ ExamScore:
3,1-54(5,9+2,4)=—41.72 10(4,9—-5,2)+=2=—-1.5
(5,5-3,7)x3,2—-3,6=2.16 (3,9+6,7)x6,8—4,6=1067.48
16(3,2 —6,9)+~4=-14.8 4,7+6,2(2,6+5,1)=52.44
(2,3+5,1)x2,9+3,8=125.26 3,3—4,8(5,7+4,4)=—45.18
2,1+5,7(6,8 —2,9) = 24.33 2,3-3,9(2,9—-6)=14.39
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